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TOA
X0.Y0
95-1
95=2
35=3
95-4
35-5
95-6
95=-7
95-8
95-1
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X0.Y0
95~1
95-9
95=-11
95-19
95-18
95-1
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Forq
X0.Y0
95=11
95=10
95~4
95-12
95~-22
95-11

*

* h 7t

X
150500.000
150571.709
150569.460
150565.964
150567.680
150614.602
150616.637
150617.834
150615.911
150571.709

X
150500.000
150571.709
150570.592
150567.755
150581.254
150582.150
150571.709

X
150500.000
150567755
150566.852
150567.680
150593.066
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9550.263780
8941.552128
7040.412000
11663.389346
11157.262146
114744439252
15530.103513
9755.722614

85113.144779
3775.101915
1887.550957

2646.705856
2475.022395
893.062714
801.208950
2664.061059

9480.060974
674.805578

337.402789

7419.970332
6961.564800
9471.606018
9295.391395
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9720.298368
7225.576500
6713.354172
6474133440
11152.713556
15627.375171
16030.844364
15936.951123

88888.246694

2619.458061
775.876672
660.814515

3018.667354

3080.049950

10154.866552

6969.279300
6803.728596
6664.111200
10102.035102
10477.883373
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ToAS
X0.Y0
95=12
95-13
95=-24
95-22
95-12
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ToA
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75=-13
95=-5
25=6
95-14
95=-24
95=-13
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95-14
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95=15
75=23
95~=14
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25=15
95=-16
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150500.000
156593.066
150606.830
150608.223
150594.403
150593.066

X
150600.000
150606.830
150614.602
150616.637
150616.935
150608.223
150606.830
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150617.834
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- 39500.000
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10519.015950
10462.025633
10127.459437
10102.035102

41210.536122
289.536110
144.768055

1411.589942
1591.462146
1649.096430
875.585040
732.715570

6260.449128
198.011826
99.005913

115.564320
540.703513
49.887664
16.033158
135.361455

857.550110
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+ + + +
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8996.783286
11460.615570
11747.281981

9295.391395

41500.072232

653.3446140
1421.913556

1771.507760

1816.769865
794.925633

6458.460954

575.502105
642.844364
581.101542

11.062312
2.844720

1813.355043

3734,.682408
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95=-21
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95=-15
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95-16
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95-21
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X0.Y0
95=17
95-18
95-19
95-20
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25-10
95=9
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: X
150590.820

150600.439
150601.384

X
156500.000

= 150591.742
- 150583.543

150582.644
150590.820
150591.742

X
150500.000
150583.543
150582.150
150581.254
150582.644
150583.543

X
150500.000
150569.460
150565.964
150566.852

- 150570.592
= 150569.460
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Y
- 39508.875
- 39507.993

= 39536.522
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Y
- 39500.000
~ 39536.837
- 39537.105
- 39509.625
- 39508.875
-~ 360536.837
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= 39500.000
- 39537.105
- 39537.151
- 39509.753
- 39509.625
- 39537.105

MW Aoted
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Y
- 39500.000
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3345.536340
891.396125
810.362312

8397.896101
545.153975
272.576987

3077.473491
3066.505620
874.142500
814.210250

7832.331861
454.858264
227.429132

3048.175750
3018.6673564
806.026932
804.101375

7676.971411
76.518902
384259451

2345.1521238
269.079300
201.893120

2537.304340
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33.264072
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814.210250
7254924260
3668.233158

8943.050076

3404.086910
804.101375
733.465500

33454536340

8287.190125

(XN=1-X0)*(¥Y=YD)

3103.705993
801.208950
782.069750

3066.505620

7753.490313

279.576500
188.657040
26442.036708
2509.686784

5419.957032




